Ealing Halloween Open 2015 31-Oct-15 to 01-Nov-15 [Ageup: 01/11/2015] SC Meters

Location: Northolt Leisure Centre

Time	F/P/S		Event	Place	Points	Improv
Melinda Aznar (9) F					
38.838	-	# 213A	Female 9-10 50 Free			-4.27
1:47.47S	F	# 215A	Female 9-10 100 IM			-6.36
Nadia Baghai (11	1) F					
40.13S		# 202B	Female 11-11 50 Fly			0.78
1:20.13S	F	# 204B	Female 11-11 100 Free			-1.20
1:30.148	F	# 209B	Female 11-11 100 Back			-2.04
35.19S	F	# 213B	Female 11-11 50 Free			0.91
1:30.96S	F	# 215B	Female 11-11 100 IM			-3.21
Madeline Bailey	(9) F					
46.90S		# 3A	Female 9-10 50 Breast			-2.14
Srileia Bearelly ((10) F					
46.64S		# 3A	Female 9-10 50 Breast			-3.67
3:11.59S	F	# 5A	Female 9-10 200 Back			-9.91
42.11S	F	# 202A	Female 9-10 50 Fly			-1.09
1:16.32S	F	# 204A	Female 10-10 100 Free			-8.78
Lucy Bekheit (12	2) F					
41.24S	F	# 12C	Female 12-12 50 Back			-3.35
1:55.43S	F	# 14C	Female 12-12 100 Breast			3.48
Freya Bennett (1	.0) F					
53.55S	F	# 3A	Female 9-10 50 Breast			
DQ	F	# 5A	Female 9-10 200 Back			
3:05.11S	F	# 7A	Female 9-10 200 Free			-0.95
45.79S	F	# 12A	Female 9-10 50 Back			-2.02
1:25.248	F	# 204A	Female 10-10 100 Free			-4.24
1:38.08S	F	# 209A	Female 10-10 100 Back			-5.14
40.75S	F	# 213A	Female 9-10 50 Free			0.07
1:40.83S	F	# 215A	Female 9-10 100 IM			1.88
Julius Bennett (1	13) M					
45.70S		# 203D	Male 13-13 50 Breast			0.03
2:43.75S	F	# 207D	Male 13-13 200 Free			-0.31
3:05.63S	F	# 210D	Male 13-13 200 IM			-4.87
1:41.97S	F	# 212D	Male 13-13 100 Breast			-2.30
43.96S	F	# 214D	Male 13-13 50 Back			1.93
Balthazar Bradsl	naw (9) N	1				
38.78S		# 13A	Male 9-10 50 Free			-0.90
6:02.178	F	# 201A	Male 9-10 400 Free			
2:56.79S	F	# 207A	Male 9-10 200 Free			-3.11

Ealing Halloween Open 2015 31-Oct-15 to 01-Nov-15 [Ageup: 01/11/2015] SC Meters

Location: Northolt Leisure Centre

Time	F/P/S		Event	Place	Points	Improv
Priya Caswell (12) F					
46.91S	F	# 3C	Female 12-12 50 Breast			-0.60
2:58.73S	F	# 5C	Female 12-12 200 Back			-3.74
2:57.03S	F	# 7C	Female 12-12 200 Free			-2.15
3:16.58S	F	# 10C	Female 12-12 200 IM			2.93
40.75S	F	# 12C	Female 12-12 50 Back			0.23
1:47.11S	F	# 14C	Female 12-12 100 Breast			-0.07
42.14S	F	# 202C	Female 12-12 50 Fly			
1:20.74S	F	# 204C	Female 12-12 100 Free			-1.45
DQ	F	# 206C	Female 12-12 200 Breast			
1:28.32S	F	# 209C	Female 12-12 100 Back			1.26
35.65S	F	# 213C	Female 12-12 50 Free			-0.58
1:31.62S	F	# 215C	Female 12-12 100 IM			2.06
Marina Crider	(12) F					
35.51S	F	# 213C	Female 12-12 50 Free			-1.77
DQ	F	# 215C	Female 12-12 100 IM			
Alexandra Edge						
43.36S	F	# 202B	Female 11-11 50 Fly			-5.17
1:20.03S	F	# 204B	Female 11-11 100 Free			-4.64
3:45.73S	F	# 206B	Female 11-11 200 Breast			-19.12
35.28S	F	# 213B	Female 11-11 50 Free			-2.62
1:34.52S	F	# 215B	Female 11-11 100 IM			-0.76
Charlotte Edge						
48.11S		# 202A	Female 9-10 50 Fly			-2.42
4:05.65S		# 206A	Female 9-10 200 Breast			-4.37
40.45S		# 213A	Female 9-10 50 Free			-1.17
1:45.38S	F	# 215A	Female 9-10 100 IM			1.18
Pietro Ferraresi						
38.56S	F	# 2A	Male 9-10 50 Fly			-0.50
1:16.68S	F	# 4A	Male 10-10 100 Free			-15.34
3:40.76S	F	# 6A	Male 9-10 200 Breast			3.35
Amelie Gilardi						
46.84S		# 3C	Female 12-12 50 Breast			-1.32
3:09.88S	F	# 5C	Female 12-12 200 Back			-16.24
40.24S	F	# 12C	Female 12-12 50 Back			-1.49
1:42.01S	F	# 14C	Female 12-12 100 Breast			-5.21
Clara Gilardi (
46.64S	F	# 3B	Female 11-11 50 Breast			-0.96
40.95S	F	# 12B	Female 11-11 50 Back			-1.02
1:51.44S	F	# 14B	Female 11-11 100 Breast			4.05
Thomasina Gro						
49.64S		# 3A	Female 9-10 50 Breast			-5.09
41.71S		# 12A	Female 9-10 50 Back			-5.06
37.70S	F	# 202A	Female 9-10 50 Fly			-7.62
37.32S	F	# 213A	Female 9-10 50 Free			-3.15
1:33.93S	F	# 215A	Female 9-10 100 IM			-8.04

Ealing Halloween Open 2015 31-Oct-15 to 01-Nov-15 [Ageup: 01/11/2015] SC Meters

Location: Northolt Leisure Centre

Marche Haige (11) F	Time	F/P/S		Event	Place	Points	Improv
3.8.18	Juliette Haig (1	1) F					
143.908	1:33.09S	F	# 204B	Female 11-11 100 Free			1.09
Namin Hamouda (12) F	38.31S	F	# 213B	Female 11-11 50 Free			-1.78
Sash F # 3C Female 12-12-50 Breast Sash Sash	1:43.90S	F	# 215B	Female 11-11 100 IM			5.04
Saha Hoque (10) F 44.98 F # 213a Female 9-10 50 Free 2.66 Sety Hunter (12) F 6-12.888 F # 3C Female 12-12 400 Free	Yasmin Hamou	da (12) F					
Rety Hunter (12) F* 6-12 888 F # 1C Female 12-12 400 Free <	48.11S	F	# 3C	Female 12-12 50 Breast			
Retsy Hunter (12) F #2130 Female 9-10 SO Free	Sasha Hoque (1	(0) F					
6-12.88S	• `	*	# 213A	Female 9-10 50 Free			-2.66
6-12.88S	Retsy Hunter (1	12) F					
49.50S	•		# 1C	Female 12-12 400 Free			-21.03
3.05.36S		F	# 3C	Female 12-12 50 Breast			
DQ	3:05.36S	F		Female 12-12 200 Free			5.86
1:51.38S	3:26.66S	F	# 10C	Female 12-12 200 IM			4.50
1:20.778	DQ	F	# 12C	Female 12-12 50 Back			
3:42.86S F # 206C Female 12-12 200 Breast		F	# 14C	Female 12-12 100 Breast			2.53
1:33.01S	1:20.77S	F	# 204C	Female 12-12 100 Free			-2.41
37.55S F # 213C Female 12-12 100 IM	3:42.86S	F	# 206C	Female 12-12 200 Breast			-9.76
Chloe Jacob (11) F	1:33.01S	F	# 209C	Female 12-12 100 Back			-3.20
Chloe Jacob (11) F 3:03.77S	37.55S	F	# 213C	Female 12-12 50 Free			-0.73
3:03.77S F # 5B Female 11-11 200 Back 3.18 41.58S F # 12B Female 11-11 50 Back 0.70 1:27.03S F # 209B Female 11-11 100 IM 0.37 1:29.06S F # 215B Female 11-11 100 IM 0.71 Chantelle Jeffers-Bobo (18) F 37.72S F # 12G Female 16 & Over 50 Back 0.13 1:30.57S F # 14G Female 16 & Over 100 Breast 0.55 1:20.68S F # 204G Female 16 & Over 100 Back 0.01 3:2.54S F # 213G Female 16 & Over 50 Free 0.01 Alexander Johnston (10) M 40.81S F # 2A Male 9-10 50 Fty 0.14 1:18.64S F # 4A Male 10-10 100 Free 0.59 1:28.47S F # 13A Male 9-10 50 Free 0.59	1:32.81S	F	# 215C	Female 12-12 100 IM			-1.29
3:03.77S F # 5B Female 11-11 200 Back 3.18 41.58S F # 12B Female 11-11 50 Back 0.70 1:27.03S F # 209B Female 11-11 100 IM 0.37 1:29.06S F # 215B Female 11-11 100 IM 0.71 Chantelle Jeffers-Bobo (18) F 37.72S F # 12G Female 16 & Over 50 Back 0.13 1:30.57S F # 14G Female 16 & Over 100 Breast 0.55 1:20.68S F # 204G Female 16 & Over 100 Back 0.01 3:2.54S F # 213G Female 16 & Over 50 Free 0.01 Alexander Johnston (10) M 40.81S F # 2A Male 9-10 50 Fly 1.14 1:18.64S F # 4A Male 10-10 100 Free 2.84 DQ F # 6A Male 9-10 50 Free 0.59	Chloe Jacob (11	1) F					
1:27.03S F # 209B Female 11-11 100 Back	•	*	# 5B	Female 11-11 200 Back			-3.18
1:29.06S F #215B Female 11-11 100 IM	41.58S	F	# 12B	Female 11-11 50 Back			0.70
Chantelle Jeffers-Bobo (18) F 37.72S F # 12G Female 16 & Over 50 Back -0.13 1:30.57S F # 14G Female 16 & Over 100 Breast -0.55 1:10.99S F # 204G Female 16 & Over 100 Free -0.55 1:20.68S F # 209G Female 16 & Over 100 Back 0.01 Alexander Johnston (10) W 40.81S F # 213G Female 16 & Over 50 Free 0.01 Alexander Johnston (10) W 40.81S F # 213G Female 16 & Over 50 Free 0.01 Alexander Johnston (10) W 40.81S F # 213G Male 9-10 50 Fiy -1.41 1:18.64S F # 4 A Male 10-10 100 Free -2.84 DQ F # 6 A Male 9-10 50 Free	1:27.03S	F	# 209B	Female 11-11 100 Back			-0.37
37.72S F # 12G Female 16 & Over 50 Back -0.13 1:30.57S F # 14G Female 16 & Over 100 Breast -0.55 1:10.99S F # 204G Female 16 & Over 100 Free -0.55 1:20.68S F # 209G Female 16 & Over 100 Back 0.01 Alexander Johnston (10) M 40.81S F # 2A Male 9-10 50 Fly 0.01 Alexander Johnston (10) M 40.81S F # 2A Male 9-10 50 Fly 1.41 1:18.64S F # 4A Male 10-10 100 Free 2.84 DQ F # 6A Male 9-10 200 Breast <	1:29.06S	F	# 215B	Female 11-11 100 IM			-7.11
37.72S F # 12G Female 16 & Over 50 Back -0.13 1:30.57S F # 14G Female 16 & Over 100 Breast -0.55 1:10.99S F # 204G Female 16 & Over 100 Free -0.55 1:20.68S F # 209G Female 16 & Over 100 Back 0.01 Alexander Johnston (10) M 40.81S F # 2A Male 9-10 50 Fly 0.01 Alexander Johnston (10) M -1.41 1:1.864S F # 4A Male 10-10 100 Free <	Chantelle Jeffer	s-Bobo (18	8) F				
1:30.57S F # 14G Female 16 & Over 100 Breast 1.10 1:10.99S F # 204G Female 16 & Over 100 Free -0.55 1:20.68S F # 209G Female 16 & Over 100 Back 0.01 32.54S F # 213G Female 16 & Over 50 Free 0.01 Alexander Johnston (10) M 40.81S F # 2A Male 9-10 50 Fly -1.41 1:18.64S F # 4A Male 10-10 100 Free -2.84 DQ F # 6A Male 9-10 200 Breast		•	*	Female 16 & Over 50 Back			-0.13
1:20.68S F # 209G Female 16 & Over 100 Back 0.01 Alexander Johnston (10) M 40.81S F # 2A Male 9-10 50 Fly -1.41 1:18.64S F # 4A Male 10-10 100 Free -2.84 DQ F # 6A Male 9-10 200 Breast 34.66S F # 13A Male 9-10 50 Free	1:30.57S	F	# 14G	Female 16 & Over 100 Breast			1.10
32.54S F # 213G Female 16 & Over 50 Free 0.01 Alexander Johnston (10) M 40.81S F # 2A Male 9-10 50 Fly .1.41 1:18.64S F # 4A Male 10-10 100 Free	1:10.99S	F	# 204G	Female 16 & Over 100 Free			-0.55
Alexander Johnston (10) M 40.81S F # 2A Male 9-10 50 Fly -1.41 1:18.64S F # 4A Male 10-10 100 Free -2.84 DQ F # 6A Male 9-10 200 Breast -0.59 1:28.47S F # 15A Male 9-10 100 IM -1.98 6:14.10S F # 201A Male 9-10 400 Free 8.22 45.89S F # 203A Male 9-10 50 Breast -1.99 DQ F # 205A Male 9-10 200 Back DQ F # 208A Male 10-10 100 Fly 3:12.11S F # 210A Male 9-10 200 IM	1:20.68S	F	# 209G	Female 16 & Over 100 Back			-1.15
40.81S F # 2A Male 9-10 50 Fly -1.41 1:18.64S F # 4A Male 10-10 100 Free -2.84 DQ F # 6A Male 9-10 200 Breast 34.66S F # 13A Male 9-10 50 Free -0.59 1:28.47S F # 15A Male 9-10 100 IM -1.98 6:14.10S F # 201A Male 9-10 400 Free 8.22 45.89S F # 203A Male 9-10 50 Breast -1.99 DQ F # 205A Male 9-10 200 Back DQ F # 208A Male 10-10 100 Fly 3:12.11S F # 210A Male 9-10 200 IM -0.55	32.54S	F	# 213G	Female 16 & Over 50 Free			0.01
40.81S F # 2A Male 9-10 50 Fly -1.41 1:18.64S F # 4A Male 10-10 100 Free -2.84 DQ F # 6A Male 9-10 200 Breast 34.66S F # 13A Male 9-10 50 Free -0.59 1:28.47S F # 15A Male 9-10 100 IM -1.98 6:14.10S F # 201A Male 9-10 400 Free 8.22 45.89S F # 203A Male 9-10 50 Breast -1.99 DQ F # 205A Male 9-10 200 Back DQ F # 208A Male 10-10 100 Fly 3:12.11S F # 210A Male 9-10 200 IM -0.55	Alexander John	ston (10)	М				
1:18.64S F # 4A Male 10-10 100 Free -2.84 DQ F # 6A Male 9-10 200 Breast 34.66S F # 13A Male 9-10 50 Free -0.59 1:28.47S F # 15A Male 9-10 100 IM -1.98 6:14.10S F # 201A Male 9-10 400 Free 8.22 45.89S F # 203A Male 9-10 50 Breast -1.99 DQ F # 205A Male 9-10 200 Back DQ F # 208A Male 10-10 100 Fly 3:12.11S F # 210A Male 9-10 200 IM -0.55				Male 9-10 50 Fly			-1.41
DQ F # 6A Male 9-10 200 Breast 34.66S F # 13A Male 9-10 50 Free -0.59 1:28.47S F # 15A Male 9-10 100 IM -1.98 6:14.10S F # 201A Male 9-10 400 Free 8.22 45.89S F # 203A Male 9-10 50 Breast DQ F # 205A Male 9-10 200 Back DQ F # 208A Male 10-10 100 Fly 3:12.11S F # 210A Male 9-10 200 IM -0.55				Male 10-10 100 Free			
34.66S F # 13A Male 9-10 50 Free -0.59 1:28.47S F # 15A Male 9-10 100 IM -1.98 6:14.10S F # 201A Male 9-10 400 Free 8.22 45.89S F # 203A Male 9-10 50 Breast -1.99 DQ F # 205A Male 9-10 200 Back DQ F # 208A Male 10-10 100 Fly 3:12.11S F # 210A Male 9-10 200 IM -0.55							
1:28.47S F # 15A Male 9-10 100 IM -1.98 6:14.10S F # 201A Male 9-10 400 Free 8.22 45.89S F # 203A Male 9-10 50 Breast -1.99 DQ F # 205A Male 9-10 200 Back DQ F # 208A Male 10-10 100 Fly 3:12.11S F # 210A Male 9-10 200 IM -0.55							-0.59
6:14.10S F # 201A Male 9-10 400 Free 8.22 45.89S F # 203A Male 9-10 50 Breast DQ F # 205A Male 9-10 200 Back DQ F # 208A Male 10-10 100 Fly 3:12.11S F # 210A Male 9-10 200 IM				Male 9-10 100 IM			-1.98
DQ F # 205A Male 9-10 200 Back 3:12.11S F # 210A Male 9-10 200 IM	6:14.10S	F	# 201A	Male 9-10 400 Free			8.22
DQ F # 208A Male 10-10 100 Fly 3:12.11S F # 210A Male 9-10 200 IM0.55	45.89S	F	# 203A	Male 9-10 50 Breast			-1.99
DQ F # 208A Male 10-10 100 Fly 3:12.11S F # 210A Male 9-10 200 IM0.55				Male 9-10 200 Back			
3:12.11S F # 210A Male 9-10 200 IM0.55				Male 10-10 100 Fly			
				Male 9-10 200 IM			-0.55
		F	# 214A	Male 9-10 50 Back			-0.37

Ealing Halloween Open 2015 31-Oct-15 to 01-Nov-15 [Ageup: 01/11/2015] SC Meters

Location: Northolt Leisure Centre

Time	F/P/S		Event	Place	Points	Improv
Morgan Kandra	ac (12) F					
47.49S	F	# 3C	Female 12-12 50 Breast			-0.84
DQ	F	# 5C	Female 12-12 200 Back			
40.38S	F	# 12C	Female 12-12 50 Back			-1.54
1:55.36S	F	# 14C	Female 12-12 100 Breast			4.62
41.81S	F	# 202C	Female 12-12 50 Fly			-7.42
DQ	F	# 204C	Female 12-12 100 Free			
4:19.74S	F	# 206C	Female 12-12 200 Breast			
1:32.61S	F	# 209C	Female 12-12 100 Back			-0.23
34.51S	F	# 213C	Female 12-12 50 Free			-2.16
1:35.488	F	# 215C	Female 12-12 100 IM			-3.36
Dawid Karpik	(12) M					
36.87S		# 2C	Male 12-12 50 Fly			-0.32
DQ		# 4C	Male 12-12 100 Free			
33.88S		# 13C	Male 12-12 50 Free			0.75
1:25.76S		# 15C	Male 12-12 100 IM			
5:27.74S			Male 12-12 400 Free			
2:35.30S		# 207C	Male 12-12 200 Free			-9.89
1:25.86S	F	# 208C	Male 12-12 100 Fly			-7.63
3:00.92S		# 210C	Male 12-12 200 IM			-3.98
41.01S		# 214C	Male 12-12 50 Back			0.01
Megan Kemp (
38.69S		# 202C	Female 12-12 50 Fly			0.58
1:16.55S		# 202C	Female 12-12 100 Free			0.58
1:25.66S		# 204C	Female 12-12 100 Back			-0.10
33.36S		# 213C	Female 12-12 50 Free			-0.53
1:25.57S		# 215C	Female 12-12 100 IM			0.75
		# 215C	Temate 12 12 100 HVI			0.73
Samuel Lui (10		" 121	N. 1. 0.10.50 F			4.55
35.78S		# 13A	Male 9-10 50 Free			-4.77
1:37.73S	F	# 15A	Male 9-10 100 IM			-15.74
Selin Mucen (9) F					
47.36S		# 12A	Female 9-10 50 Back			-5.99
39.45S		# 213A	Female 9-10 50 Free			-2.24
DQ	F	# 215A	Female 9-10 100 IM			
Lydia Nathenso	n (9) F					
DQ		# 3A	Female 9-10 50 Breast			
Alexa O'Leary	(10) F					
50.01S		# 3A	Female 9-10 50 Breast			-1.14
43.64S		# 12A	Female 9-10 50 Back			-4.09
1:46.75S		# 14A	Female 10-10 100 Breast			-2.61
46.69S		# 202A	Female 9-10 50 Fly			-0.55
3:39.55S		# 206A	Female 9-10 200 Breast			-6.26
37.95S		# 213A	Female 9-10 50 Free			-0.75
1:35.81S		# 215A	Female 9-10 100 IM			-5.84
Helena O'Neill 43.69S		# 202A	Famala 0 10 50 Ely			4 22
			Female 9-10 50 Fly			-4.33
37.87S	Г	# 213A	Female 9-10 50 Free			-0.71

Ealing Halloween Open 2015 31-Oct-15 to 01-Nov-15 [Ageup: 01/11/2015] SC Meters

Location: Northolt Leisure Centre

Time	F/P/S		Event	Place	Points	Improv
Mathew Peters	(9) M					
45.29S		# 2A	Male 9-10 50 Fly			-3.68
40.90S	F	# 13A	Male 9-10 50 Free			1.07
1:43.29S	F	# 15A	Male 9-10 100 IM			-1.04
55.05S	F	# 203A	Male 9-10 50 Breast			2.14
3:15.15S	F	# 207A	Male 9-10 200 Free			-10.85
48.26S	F	# 214A	Male 9-10 50 Back			-0.69
Virginia Radelii	ffe (11) F					
41.63S		# 202B	Female 11-11 50 Fly			2.42
1:20.74S	F	# 204B	Female 11-11 100 Free			-1.46
1:28.30S	F	# 209B	Female 11-11 100 Back			-1.63
34.04S	F	# 213B	Female 11-11 50 Free			-0.77
1:33.72S	F	# 215B	Female 11-11 100 IM			-4.96
Emma Ralph-Sa	argent (12)	F				
36.66S		# 202C	Female 12-12 50 Fly			2.59
DQ		# 209C	Female 12-12 100 Back			
32.20S		# 213C	Female 12-12 50 Free			0.61
Caterina Revell						
54.34S		# 3A	Female 9-10 50 Breast			-0.04
3:13.35S	F	# 5A	Female 9-10 200 Back	 		-23.66
3:06.89S	F	# 7A	Female 9-10 200 Free			8.46
1:30.398		# 209A	Female 10-10 100 Back			-3.84
36.408		# 203A # 213A	Female 9-10 50 Free			-0.15
1:35.728		# 215A	Female 9-10 100 IM			-3.66
		# 213A	Temate 3-10 100 IVI			-5.00
Caroline Rijkse		// 2 00D	F 1 12 12 100 P 1			0.40
1:19.86S		# 209D	Female 13-13 100 Back			-0.40
32.14S		# 213D	Female 13-13 50 Free			-0.12
1:24.798		# 215D	Female 13-13 100 IM			-0.67
Jonathan Rudd						
42.08S		# 13A	Male 9-10 50 Free			-0.05
1:52.61S		# 15A	Male 9-10 100 IM			8.71
59.91S		# 203A	Male 9-10 50 Breast			2.66
3:32.57S		# 205A	Male 9-10 200 Back			1.43
3:29.85S		# 207A	Male 9-10 200 Free			12.60
46.80S	F	# 214A	Male 9-10 50 Back			2.47
William Rudd ((12) M					
41.98S	F	# 2C	Male 12-12 50 Fly			2.94
3:56.74S	F	# 6C	Male 12-12 200 Breast			3.24
34.53S	F	# 13C	Male 12-12 50 Free			0.53
1:32.02S	F	# 15C	Male 12-12 100 IM			2.83
48.94S	F	# 203C	Male 12-12 50 Breast			1.57
1:31.06S	F	# 208C	Male 12-12 100 Fly			-2.63
DQ	F	# 210C	Male 12-12 200 IM			
1:50.418	F	# 212C	Male 12-12 100 Breast			1.21
41.20S	F	# 214C	Male 12-12 50 Back			2.68
Teddy Sinclair	(9) M					
59.34S		# 203A	Male 9-10 50 Breast			-2.44
47.58S	F	# 214A	Male 9-10 50 Back			-2.01

Ealing Halloween Open 2015 31-Oct-15 to 01-Nov-15 [Ageup: 01/11/2015] SC Meters

Location: Northolt Leisure Centre

Time	F/P/S		Event	Place	Points	Improv
Josephine Surm	inski (10)	F				
6:37.72S	F	# 1A	Female 9-10 400 Free			-15.16
49.07S	F	# 3A	Female 9-10 50 Breast			-1.34
3:12.78S	F	# 7A	Female 9-10 200 Free			-4.42
3:30.51S	F	# 10A	Female 9-10 200 IM			0.89
45.62S	F	# 12A	Female 9-10 50 Back			-0.56
DQ	F	# 14A	Female 10-10 100 Breast			
44.45S	F	# 202A	Female 9-10 50 Fly			-4.21
1:30.75S	F	# 204A	Female 10-10 100 Free			0.37
40.97S	F	# 213A	Female 9-10 50 Free			1.48
1:36.81S	F	# 215A	Female 9-10 100 IM			-2.10
Nicole Thomaz	(11) F					
43.26S	F	# 202B	Female 11-11 50 Fly			3.44
1:27.32S	F	# 204B	Female 11-11 100 Free			
36.34S	F	# 213B	Female 11-11 50 Free			-0.98
1:34.92S	F	# 215B	Female 11-11 100 IM			
Pietro Ubertalli	(10) M					
2:43.21S		# 11A	Male 9-10 200 Fly			
41.19S	F	# 203A	Male 9-10 50 Breast			-1.36
Daphne Welter	(11) F					
3:45.53S		# 10B	Female 11-11 200 IM			-4.24
1:39.77S	F	# 209B	Female 11-11 100 Back			-4.22
41.58S		# 213B	Female 11-11 50 Free			-0.95
Naomi Welter (12) F					
3:17.10S		# 10C	Female 12-12 200 IM			-10.99
1:33.52S		# 209C	Female 12-12 100 Back			0.96
39.92S		# 213C	Female 12-12 50 Free			-1.17
Edward Whittle	e (9) M					
1:11.62S	. ,	# 4A	Male 10-10 100 Free			-8.22
3:18.44S		# 6A	Male 9-10 200 Breast			-5.53
1:24.60S		# 9A	Male 10-10 100 Back			
2:53.65S		# 11A	Male 9-10 200 Fly			-2.59
1:24.22S		# 15A	Male 9-10 100 IM			-1.82
5:16.30S		# 201A	Male 9-10 400 Free			-12.64
2:55.298		# 205A	Male 9-10 200 Back			1.18
2:32.94S		# 207A	Male 9-10 200 Free			-1.06
1:21.38S		# 208A	Male 10-10 100 Fly			-7.76
2:54.05S		# 210A	Male 9-10 200 IM			-2.62
1:34.36S		# 212A	Male 10-10 100 Breast			-7.29
						,,,
Sara Yagoubi (1 38.74S		# 202C	Female 12-12 50 Fly			-5.76
1:15.50S		# 202C # 204C	Female 12-12 100 Free			-3.76 -1.81
						
3:34.09S		# 206C	Female 12-12 200 Breast			-25.85 3.48
1:22.99S	Г	# 209C	Female 12-12 100 Back			-3.48

Ealing Halloween Open 2015 31-Oct-15 to 01-Nov-15 [Ageup: 01/11/2015] SC Meters

Location: Northolt Leisure Centre

Time	F/P/S	Event	Place	Points	Improv
Mehmet Zeren (9) M				
41.34S	F # 2A	Male 9-10 50 Fly			-2.87
1:16.18S	F # 4A	Male 10-10 100 Free			-4.17
33.79S	F # 13A	Male 9-10 50 Free			-1.27
1:28.52S	F # 15A	Male 9-10 100 IM			-3.67
2:53.98S	F # 205A	Male 9-10 200 Back			
2:45.05S	F # 207A	Male 9-10 200 Free			-10.09
39.67S	F #214A	Male 9-10 50 Back			-0.46